

HOW TO PROVE THE PRODUCT, QUOTIENT AND CHAIN RULES FOR DERIVATIVE FUNCTIONS USING FIRST PRINCIPLES

BY

M.A. TOLENTINO

Tolentino Tuition, Year 12 Mathematics

26 June 2026

CONTENTS

3	PRODUCT RULE
4	QUOTIENT RULE
5	CHAIN RULE

PRODUCT RULE

$$A(x) = f(x)g(x)$$

$$A'(x) = \lim_{h \rightarrow 0} \frac{A(x+h) - A(x)}{h}$$

$$= \lim_{h \rightarrow 0} \frac{f(x+h)g(x+h) - f(x)g(x)}{h}$$

the same as
adding zero!

$$= \lim_{h \rightarrow 0} \frac{f(x+h)g(x+h) - f(x+h)g(x) + f(x+h)g(x) - f(x)g(x)}{h}$$

$$= \lim_{h \rightarrow 0} \frac{f(x+h)[g(x+h) - g(x)] + g(x)[f(x+h) - f(x)]}{h}$$

$$= \lim_{h \rightarrow 0} f(x+h) \lim_{h \rightarrow 0} \frac{g(x+h) - g(x)}{h} + g(x) \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

$$= f(x+0) \cdot g'(x) + g(x) \cdot f'(x)$$

$$A'(x) = f(x)g'(x) + g(x)f'(x)$$

QUOTIENT RULE

$$A(x) = \frac{f(x)}{g(x)}$$

$$A'(x) = \lim_{h \rightarrow 0} \frac{A(x+h) - A(x)}{h}$$

$$= \lim_{h \rightarrow 0} \frac{\frac{f(x+h)}{g(x+h)} - \frac{f(x)}{g(x)}}{h}$$

$$= \lim_{h \rightarrow 0} \frac{\frac{f(x+h)g(x) - f(x)g(x+h)}{g(x+h)g(x)}}{h}$$

$$= \lim_{h \rightarrow 0} \frac{f(x+h)g(x) - f(x)g(x+h)}{g(x+h)g(x) \cdot h}$$

$$= \lim_{h \rightarrow 0} \frac{1}{g(x+h)g(x)} \cdot \lim_{h \rightarrow 0} \frac{f(x+h)g(x) - f(x)g(x+h)}{h}$$

$$= \frac{1}{g(x+0)g(x)} \cdot \lim_{h \rightarrow 0} \frac{f(x+h)g(x) - \cancel{f(x)g(x)} + \cancel{f(x)g(x)} - f(x)g(x+h)}{h}$$

$$= \frac{1}{(g(x))^2} \cdot \lim_{h \rightarrow 0} \frac{g(x) [f(x+h) - f(x)] - f(x) [g(x+h) - g(x)]}{h}$$

$$= \frac{1}{g(x)^2} \cdot g(x) \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} - f(x) \lim_{h \rightarrow 0} \frac{g(x+h) - g(x)}{h}$$

$$= \frac{1}{(g(x))^2} \cdot g(x) f'(x) - f(x) g'(x)$$

$$A'(x) = \frac{f'(x)g(x) - f(x)g'(x)}{(g(x))^2}$$

$$\textcircled{1} \frac{a \times b}{c \times d} = \frac{a}{c} \times \frac{b}{d}$$

$$\textcircled{2} \lim_{x \rightarrow a} [f(x)g(x)]$$

$$= \lim_{x \rightarrow a} f(x) \cdot \lim_{x \rightarrow a} g(x)$$

CHAIN RULE

$$A(x) = f(g(x))$$

$$A'(x) = \lim_{h \rightarrow 0} \frac{f(g(x+h)) - f(g(x))}{h}$$

multiplying by 1

$$= \lim_{h \rightarrow 0} \left(\frac{f(g(x+h)) - f(g(x))}{h} \times \frac{g(x+h) - g(x)}{g(x+h) - g(x)} \right)$$

$$= \lim_{h \rightarrow 0} \frac{f(g(x+h)) - f(g(x))}{g(x+h) - g(x)} \cdot \lim_{h \rightarrow 0} \frac{g(x+h) - g(x)}{h} \quad \leftarrow \frac{a}{b} \times \frac{c}{d} = \frac{a}{d} \times \frac{b}{c}$$

$$= \lim_{h \rightarrow 0} \frac{f(g(x+h)) - f(g(x))}{g(x+h) - g(x)} \cdot g'(x)$$

Let $g(x+h) - g(x) = k$, and observe that

(1) as $h \rightarrow 0$, $k \rightarrow 0$ $\{g(x+0) - g(x) = 0\}$

(2) $g(x+h) = g(x) + k$ $\{\text{re-arranging}\}$

$$A'(x) = \lim_{k \rightarrow 0} \frac{f(g(x) + k) - f(g(x))}{k} \cdot g'(x)$$

* Replace $g(x)$ with ' x ', and k with ' h '!

$$= f'(g(x)) \cdot g'(x)$$